H*+350

900<H ()
1140
120 900 120
900><H
S
<
3
e
E
-
= D13 L=1240
2l
I D10 L=10000
8 I ~
9 B
g ‘
S
IS
18-8-258B
18-8-258B
RC-40
Lo 1340 1od
1540
( ) 900xH @o.om )
900=<H 4
900=<H 1
18-8-2588 n3 2.010
n2 3.000
D13-500200
L=1240 kg 61.69
D10-6
L=10000 kg 33.60
RC-40
roem n2 15.400
m3
( ) 900xH (0.on )
mm 700/ 800| 900 1000| 1100| 1200| 1300 1400| 1500| 1600
mn 890 990| 1,090| 1,190| 1,290| 1,390| 1,490| 1,590| 1,690 1,790

1300<H (

§=1:20

)

H*+350

1560
130 1300 130
1300H
S
2
g
[ 8
o
ES
'D16 L=1660
o
2
D13 L=10000
8 -l S :
ke
8 ‘
g
<
18-8-2568
18-8-2568
RC-40
L0 1760 10
1960
( ) 1300xH @o.om )
1300%<H P
1300<H 1
18-8-2588 3 2.640
2 3.000
D16-506200
e kg 129.48
Di3-7
L=10000 kg 69-65
RC-40
o 2 19.600
3
() 1300xH @o.on )
H mm | 1000 1100| 1200| 1300| 1400| 1500| 1600| 1700 1800| 1900
H mn | 1,210| 1,310| 1,410| 1,510| 1,610| 1,710| 1,810| 1,910| 2,010| 2,110

1595

S=1:20
1200><1200 1700><1000
1430 1910
[L15, 1200 115 105 1700 105
S S
de g
g————
300
300 @50 (GQF-50) ‘ RC-40
@50 (GQF-50) RC-40 =,
d 2
g 8 g 7 - g
= = s et 0
3
0
o
3 [ ]
ofR
w0 =i N
< pay
S I
(=7 A AN
S N
=
3
) N
13
18-8-408B
rs Lo 2050 10
18-8-408B RC-40
10q 1370 10q 2250
RC-40
1570
U 1200x1200 o.om ) U 1700x1000 (1o.om )
v 1200 12002000 5 v 1700>< 1000 2000 5
18-8-408B n3 1.570 18-8-408BB m3 2.250
n2 2.000 m2 2.000
RC-40 RC-40
t=150m n2 15.700 =15 m2 22.500
13 m3 0.274 13 m3 0.410
@50 (GQF-50) 10 @50 (GQF-50) 10
RC-40 n3 0.270 RC-40 m3 0.270
700><700
S=1:20
1280
150 980 150
140 700 140
700x700 (10.0om )
\rd V)
e b 18-8-2588 m3 5.000
. &
of R m2 34.337
g ® RC-40
S t=15cm n2 13.800
b
o
3
o
9
18-8-258B 1
- 5 10
RC-40
$=1:20 ‘ ‘ 6 - 10
1280
1380
A3 2 1




